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Math Il Big Question: Vertex Form Application

The flight of a paper airplane follows the quadratic
equation H(x) = —(x—3)>+ 25, where H(x) represents the
height of the paper airplane in feet and x is the horizontal
distance in feet the airplane travels after it is thrown.

What is the starting height of the paper airplane?
H(@©)=-(0-2)+25—> ~(-»)+25 > -q<25 = b

The starti N.lgwr ﬁ{ e paper airplane is lofeet

What is the Vertex? Explain the meaning of the vertex in

the context of the problem. H(x)=- (@1
Afrer 2Feet the paper wrplare P“’“W& opens

i5 ot if's greatest heigpt, 25%0e Qoo Klalved vertex i5 3

Y -qu,(nrkx (525"
How far the paper airplane fly horizontally?

0 quick table helps us seg how for the GIrplang Gppex lan&s‘

- -9%29]Y
-(4-3)%25 | 24
-(5-3)%15 |21
-(6-3)25] 1
-(+-3)%75|4
-(3-3)%15| 0
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Graph the flight of the paper airplane.
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